N.Sky
Fres
i)

CPID

0.6
@

Slant Range [km]

Slant Range [km]

Gate
N N ERE RS R

N

0.0

Saskatoon (no data)

Beam 07

O =0 =

o -

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.4

0.2

=4

Prince George (fitacf3)

0.4
Time UT

Beam 07

0.6

0.8 1.

o

29/0ct/2024

twofsound 3503

N <3
g 8
N

4000 -

3000 -
2000 -

10004

12:00
Time UT

16:00

20:00

.E 105 N.Search N.

Velocity [m s™']

Slant Range [km]

Kapuskasing (fitacf3) Beam 07 29/0ct/2024
105 5 - T T 105
100 3 100
BT E 60
8 £ o

--m Wil
It e

it vl b

4000 -

N W
g 8
N

1000 4"

00:00

12:00
Time UT

Beam 07

20:00

29/0ct/2024

Goose Bay (fitacf3)
o o~

1053
Sky 100 ]

Slant Range [km]

Slant Range [km]

18

normal (fost) 151

4000 -

N <3
g 8
N

1000 =

4000 -

N W
g 8
N

1000 =

12:00
Time UT

16:00

20:00

Velocity [m s™']

Velocity [m s™']



Kodiak (fitacf3) Beam 07 : Stokkseyri (no data) Beam 07 .
105 T
NSky 400 i T P errmchdrma gty gt 0 | | ? N.Seorch
1
N.°.Y.a [@1 0 | | r{gya
cPID
1.0 =
. E 26
8 08 gl
24 ] o _
2D§ . 06 C HisZ
— 2 1 F 15 «
16 ] 3 1 E ]
28 0.4 n ne
8 ] o 7
4 {(_ 0.2— f—
e i L R 4 ] K
iy 0.0 -
1.0 E
4000 = = M 1000 08 M7
B i 200~ ] EF2e 5,
= 3000 - S 0.6 E 12 ¢
& 25 £ o T " 3
< 3 3] - ° >
g -5 2 S 7 E E
2 2000 - 00 3 0.4 E H-125%
H Tso0 £ ] [ H-2508
& -500 > 02 -
1000 = sed 2 : i,
0.0 o
00:00 04:00 08:00 12:00 16:00 00:00 0.0 0.2 04 0.6 0.8 1.0
Time UT Time UT
King Salmon (fitacf3) Beam 07 : Pykkvibaer (no data) Beamn 07 .
A LA L 5\ Seorch NSy o | | o NSearch
El Fre: 1 1
o e ROTTOPTTT T T TIoN [ "ﬂzi o | ° Nove
normal (fost) 151 RF CPID
1.0 =
4000~ = M8 08 F Mo
T e ; 2 _ 3 EHez,
o 3000 203 o 06 - 183
g 16y - E M
S 2000 - 128 0.4 — - ne
5 8 . - N
® 1000 4 0.2 :— 3
0.0 C
1.0 E
4000 = = M 1000 08 M7
T ! 500~ T 7 E M50
3000 - | = [0 @ = £ His o
s s £ 2 %873 o, £
s = H-2s 2> 38 7 E 2
& 2000 - | 00 3 0.4 b -125%
g -100 3 3 C -250 2
& -500 > 02 -
1000 - . -1000 1 C -375
e s 00 ] C
00:00 04:00 08:00 12:00 20:00 00:00 0.0 0.2 04 0.6 0.8 1.0
Time UT Time UT
Hankasalmi (no data) Beam 07
1
NSy g ] [ o mseoren
Fre: 1 1
['@1 o | o Nove
cPID
1.0 =
. E 26
0.8 -
] o 2_
o 0677 L)
3 7 E 15
o - C z
0.4 C ne
] o 7
0.2 - s
0.0 C
1.0 E
] E 7
0.8 o el
] [ M2s0
0.6 = s e
L 7 —
3 1 E o x
0.4 C 1258
] C -250 2
0.2 E R-375
0.0 o
0.0 0.2 0.4 0.6 0.8 1.0

Time UT



